__ 14
3f14-3)!

_ 14!

ani

_14x13x12x 11

https://millionstar.godaddysites.com/

T T axexixlll

_ 14x13x12
0
= 364

Q1(ii)
12 ClD

I -
" 10/{1z- 10)

_ 12x11x10!
T oi0ix2x1
=66

Qa(iii)

35
Cas

= 35!{35— 35}!
=1

Ex 17.1
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Q1(iv)

ntl~
n

{r. +1}1 i

ln!”n+1—r'.i

[

r!ir‘-—rJ!_

f 1
l.l.l+li.\1.r.l.

= 1!

=-Hll

Q1(v)

=
- I~
3 —F

o1

r=1

=3l II_.2 + f_..'s i |'__"__1 47 f_,"j

5 8 8 3 5 i ml o
- + + . Y
1Al 1=l == EINR! =L f | ]
T TR TR TH TRV ; CIGRGTH
S Sz
e {5
= -ttt

= B L 5~ S I

==1

no- !
K rfn—r)!

Honeo =

F =10 and &

.&.pplying farmula @

Then F+g-n %
NIN

—_ nCr} =" :-:I

12+E:—r. 6
O
%\\ ij

Il
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T, ="
’ L)

Then £ +3 =7

A R L. I
il £ rl[n—r] “
— ch o C't;
++6 -7

12 12
then Cn - Cl:l

Applying fi)
12 A L2
o, e
AT T
_lzs_olwxlo
I xZml
el oo
dal
Q4
If 72, =% o,
Then & +y=n
= T =" G
10+12—-n
= =24
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Q5

IfC, =<, thenf+r=n

¥

X¥+2x+3F =24

3x =21
=T
Q6
IF .".‘CP =.".‘ C'-‘.'-'
= S +q=n

_is
alsoC, =""C,, o

= ¥ +x+2=18
2 +2 =18
2x =18-2 =106
2% =16

N =8

Q7

If ”CP =”C¢

Then F+g=n
15 15
= Ca = C,r'+3

=5 A+ +3=1=%
4 +3=15 60 ,‘\\F)
S Q” oL
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Q8
Sl il

il

Applying formula #C, = ———
rifn-r)!

¥

Bl 7
= +
rfe-r)t 208 31 4

8 =7 7! 7!

= +
Afa-r) 2x5x4 3Ix2x4l

8= 7! ) SO i e
= _+_
r![B—r]! 2x4lE 3

Cancelling 71 from both sides
a3 a3

ne-r)l 2x15x4

Cancelling 8 on both sides
2x5x3x4x3:<2x1=."![8—."]!

[3x2)[Ex4x3x2x1)=rf8-r]
= rl=23l
F=23

ar 1= El
r==5
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15! 11
fie-r}trt &
15!

[15-r+1)i{r-1)!

15! 11
(15-ryfle-r)t rfr-11 " 5
15
(16 - r)ifr-1}!

a0 -5 =11r
80 =16r
a0
F=—
16
=5
r==5

Q10

2. n-2 ;
PH2o "2 p, =57 16

[n+2}! &7
Afr-e) 16
fr-2)!
frr—6)!

[n+2][n+1][n][n—l][n—2]!= 57
Bifn - 2)! 16

cancelling [n—E]! from numerztor and dznominator

S =T =xGxixexIxlxlt
16

= fr+2)(n+1)[n]frn-1)=
i3 fr+2) [+ 1) (] {7 — 1) - 2120 =13 =10

corm paring both sdes n =19
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Q11
0! or-oF
f2r) [20-2r)! 11
S
(2 -4 [24-(2r - 4))!
» 2ExETx2Ex23x2 :2.' —¢: :EB—Er:]! 993
& [2r]l (28— )1 24l T
PR R T wPE w?h FRE
=

v :?r- |] w[:,’-‘r -?] [:?r- 3} T

28 xEV 20225211

= e zrizr-1)far - 2)fzr - 3
= 1w PwtAnta =2 (2 )3 -2 @ -5
Carposing aoth sices ~=7
Q12
4! r_. i i
fze)tizn)! 1 =)
2l

ool

(4n)t  =(n)f

- f2n)ti2n)! sf2r)i

[1 23 (-]l f

= (zn}l [-2.34.. fan-z2){2n- i}l[En}JZ

[1.25 fn 1]x|246.40]| =)

f2a)t|1.25. jon 1) |2 450 (20 o)) [

[2.3.50 47 —1)] x2% x[2.2.5...27] aniF 60 ,’\\O
{2.—;]!%1.3.5...[2;;— 1™ ::-c."!?J QO @)

) |1.3.5....{4.".l—1}|
[:85af2e-1T 6\'@ %‘
Honzo Mroved S
N P
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Qi3

el

3 (zn-3)0 3

ai

2! [n-2)!

2nt2n-2)t 44
= = —

3ifen-8jinl " 2

Znl 44

= =

an! [n-1fzn-3)¢ 3
= znfzn-1)(2n-2) = 44n{n-1)

= [2n—1}{n—1]=11[n—1]
] h=h

pra=ET
then "C4="C,4 o or=7)
41 [??-I 4] [ g r![nﬂl ] !]
7 x5 x6 <

“Ixz O WO
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Q15
z0 S o5
CS + 5B i Cq_
Fm2
= {EDCE 15 C4:] g2k 'y 422 Cy 22 Cy
= {EIC‘S 2l C‘q) G8 Ty B Ty

= {2265 e C4:] 2 Cy

=53 Cg 2% 4

{ ncr—l 4" cr _Rr+l C.r:]
{ ncr_l_i_n cr _r+l C.r:]

{ ncr—l 4 Cr i+l Cr:]

Remove Watermark

mm Wondershare

H  PDFelement

24
=" Cg

= 42504
Qle

Product = [[En +1)[2n +3){2rn+5)...[2n + r]]

) [En}![{En +1)f2n+3)...[2n +r]:|

f2n)!

_ (2n)[({2n - 1){2n-2)...4.2[2n +1) {2n + 3} ]
[2r]!

) (2 +r)!
[2n)!
Hence ¥ =2n ) @
) [2n +2n)! bo c’)\\o
2 @ @
&"O Q\
il x0
(or)! S b
= [:2."‘.'}! Q &Q
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Q17
Zn zn
L.H.8, =™C, +* .

2! i 2n!
atal fn-1){n-1)!

| 1 i 1

" n- 1[]2:;3; -1 [1;21 """""" 0

22 [2n +2)!

+
-

) (2n +2){2r + 1)[2n)!
rln+1){n-1)1{n+1)n{n-1)!

|
e
=

=

n

[2n)! [r+1)° (n)frn - 1)ifn - 1}!{1”2]

(r-1)i{n-1)1" " [2n+2){2n+1}{2n)! z

_ [n+1]2{1 +n2} p [ + 1) [n+1]{n2 +1}
(2 +2] (2n + 1) 2 [n+1)f2n +1)

) [n+1]{n2+1} 1
_WXE
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Q18
FC4,"Cg, and "y arein AP
nCS " C4 =n C6 _" CS

5!|[nn—! ST [nﬂ—! 4 5![;—! ) 6![.*‘.'”—! 5}

= 4!{;—'5]![%_;4}:5![;—'5]![%_;5}

=

h-19 h-11
= =
h-4 i}
= 67 — 54 = 1 — 15n + 44
= R -21n+98 =10
n=7,14

His7orls
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Q19
Maw %O, = M

2

[m{ﬂ;—ll][m{ﬁ;-ll_

2

]

m{m - 1) [m® - m - 2] _m{m-1){m+1)(m-2)
2w we a3

m - 1) fm + 1) fm - 2)
4 x2

multiplying

- mfm+ 1) mfm - 1) (m- 2)

o 4.3.2.1
_ 3m+1)mlm-1){m-2)
EY
Q20(i)

. 0l

T [r-a]l

P i

o fr="yfe-ceh
fono ete Dworady
iy R

- fr="Yfr=v+)ufr=-o]!

reel - L]

n-rF+1

P

| =9rF Frnwer

with 2, numerator and denominator to make 4;

mm Wondershare
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[rn-1)!

-1 - -]

) wini{e -t +1)
[r—l]![n—r}![n—r+1]

multiplying numerator and denominator by [n -r+ 1]]

) [n-r+1)xn!
[r-1)i{rn-r+1)!

= [n—r+1}” iy

Hence Proved

Q20(iii)
p-l [ - 1)

- 1) - [r- 1)1

nEL nifr-1)n-r)!

i ik - rifp=rlifn - 1)

_xifn = Tfe=11x{n - £} @
T e[ -1ix[n-r)] O ’\Q
e

Hence Proved %

|3
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Q20(iv)

LiH 8= A 280 s h Qg
=("c, +" o)+ (70 Gy
=f{n+1)+'cC,

_n+Z
= Cr
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Ql

Mo of players = 15
Mo of players to be selected = 11

HMumber of combinations

15
= "0

15! 16w14=x13 =12

11! 4x3x2

1365ways

Q2

Total boy = 25
Total girls =10

Party of 8 tobemade from 25 boy and 10 girls, selecting 5 boy and 3 girls

= = ard %,
25 10
= C'5 " CS
!
Mow, “7Cq = ———
r![n —r]!

245 N 10 25x24xZ23x22 w21 x10x9x=8
sraob 3 d Dxdx3dxZxdxd

= 6375600

Q3 0 \C)Q
Cut of 9 courses 2 ase compulzory: So students can choose from 7 courses only. Alsa DL@b ’\'

of 5§ courses that students need to cioose, 2arz com pulsory, %
So they have to choose 3 courses out of 7 courses, This can be donz ?C =33 wa% Q

‘bé\
\\\ >

@
,QQ
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Q4

Mo of players= 16
Mo of players to be selected = 11

Mo of combination = *%¢y,

I
16! - 16 %15 x14=x13 =12 - 4365

RTINS T A

(} Include 2 particular players
— Mow we have to select 9 more out of remaining 14

Fequired number of ways
= Mg,

14 14x13x12=x11=x10

9! &l Sxd=3x2

= 2002

[:ii] Exclude 2 particular players = now we have to select 11 players out of 14 players

_ 14, 14 14x13x12
& 11

BT Tz

= 364
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Total number of professor = 10
Total number of student = 20

Committes of 2 professor and 2 student can be selected in mC'z x2° Ca Ways.

10t 201

=

208 217

_ 1ﬂx'§lx2lﬂxlgx19
2 Ixe

= 51300 ways

{i} a particular professor 15 induded

. committes is 91:‘] 20 Cy

ol s 20 S x20x19x 18
Bl AxlTl I=2

= 10260

(i} a particular student is included

- committee is 00, 1% ¢,

10l 19 1I0x89x10x18

BT e Ty TR e e

(i) a particular student is excluded = now total student are 19

-~ committee is ¢, #*% €3

0! 19 10%x9x10%x18x17

= " = = 43605
Zxat Jxlal R
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Q6

The we can multiplying 2 or 3 or 4 digits.
Then number of ways of multiplying 4 digits at a time

The number of ways of multiplying 3 digits at a ime
=% fi1)
3---- RN

The number of ways of multiplying 2 digits at a tima
-4&‘32.........[iiij

- Tota number of ways
- 4C4 +‘ C:r 1‘4 CE

4 x3

= =1+ -+ &

= =11

= There are 11 ways

Q7

Total number of boys = 12

Total number of girls = 10

Total number of girls for the competition
=10+2=12

Total students chosen for com petition
= 10- 2(at least 4 boys and 4 girls)

Selaction can be made in
BoBt+Bef o+ e, Fo,

121 gl 1z al 121 al

“WE Wa 57 3o 66 e @
O - O
={12 xllilﬂxgxﬂx?xﬁaﬁ]_'_ 12 !llxlﬂxﬂxexﬂx?xiﬁ}+[12!11x10x9 xBx 7T xBx¥V b \\
dududwdwd= SwduI«d I« BuSuwduIwud O

= 280896

- 55440+ 44352 4181104 K@ QK
x0
. Total number of ways = 385770 - 280896 = 104874 Q &Q

(385770 = from 10 girls 4 are chosen) . O 0
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Total number of books = 10
total hooks to be sefected = 4

(i there is no restriction

100 _ 10x9x8x7

.:1'-"5'4-
4 &l FuIn

= 210

i} two particular books are always selected
these the total books = 10-2=8

So out of rem aining @ books selection od 2 books canbe done in 2C; way
Bl BxT

216l Zxl

= ZBways

(iil) two particular books are never selected
these the wtal number of books= 10-2=H

so out of rem aning B books, 4 books can be selected in 9C4 way
al B w7 wbuh
- -
48 | duIul

=14 x5

= 70 ways
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Trka rumhb=r = ofbrer - <
Tota rumbsr of jawan== 58
Toka rumbsr of selecion to bs mads - £

{1 toinclude exadly me oo
Teis ran he dane s T O ways

| St

1
RIS R |

S AL LA PEE
=2
[] toinduce atlza=: cne off oer

a5 can be dans is Ellowing Wiy
T E =R ol PR e o

.[u-xe:-c?xe' CAxTrEATHEE
A3 P Redx3xi l

4» ax?uﬁ‘__l'axf]
3x2 4, 12=1

=|'_4-¢E 37}4[4.-'3#7 -r51'+|;4.r B 7:—[4 "-":I
=224 4+ 414 224 + 28

=BG WIS

Q10

Tetal rumrber of studants is <1 - 22
Tetal rumrber of studsnits iz ®II- 20

Tatal rur ber of studeants to be selected iz © team = 11
fa': least £ Fom Kl ard & Fom H]I:

this can bz cone is Kliow ng ways

B A+ 2w

- 2fPe, P ) e

20 20

SERE)

& 14 & 1E @
o o ERE0A19x10x17x16x15x20 % 19510517516 @
BaSAdnInZabnd Il é

~ 0N 1TFIENIE %2 %3 1T %0 6\, %.
- 120 1870020 ways Q @
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Q11

Tatd number of questions = 10
Question in part A= 6
Question in part 8 =7

Selecting to guestions with at least 4 from sach part 4 and part 8,
can from done in following way,

K Ce P O Oyt T n Oy
- [—61 x—?! Jd—[i :-:—?II ]-I- [—1}(?!] [‘.'HCP - al ]
4821 Al 1 gl 5 A 4 = Aln=rjl

- Exb5x7 " BExTxb " TxGxk
2 2 Ix2

= (105)+ (1286) +(35)

=266 ways

Q12

Total number of guestion = 5
Total number of question to be answered = 4

Given that 1 and 2 question are compulsory, the number of ways in which a student
can choose the questions will follow the following way,
Total question=5-2=123

Outof 3 remaining guestons a student has to select any 2 for answering
= %, =3 ways
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Q13

Tatal number of questions= 12
Total number of guestions o be answered =7

bad group has b questions [+ hJ more than & question from either group is nct
permitted, therefore the number of ways 5 student can choose queshions can be done in following ways.

A Ol B 0Pl 6,

=28, & C5+° 03 5% ¢4)

6l &l &l 6l
| e 3 s o . 5
{2! 4 B1 33 H EJ

=2[Ex53cﬁ R ]
2 Ixaud

cxbOxExb 207
assgera 1

. mn[i&]
3
=30 «26 =780

= T80 ways
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Q14

Murmber af point = L0
Mumber of coll near ponte= =

Since 4 out 3F 10 ocints e collineas 2o tae sumber ofliner will ke (*0; 1:] lie Fam =0,

{r'ru:! 15 spntr arted - from "."2 = it fr the I n= nn which = milinrar points iiF}
numosr of linar - Yo o “L‘za 1:]

- 19 4
="+l

1 A
o — T p—
R

10=9 &x3
- il
z 2
=45 +1

=L

Q15

(1) hexagon — A hexacon has 6 angular points, By joining any two angular points we get a line
which is either a side or 2 diagcnal.

|
Number of ines = %, el
2 4

ﬁxE_lE

Mumber of sides =6
Mumber of diagonal: = 15-6=9

iy Polygon of 16 sides will havs 16 angular points, By joining any 2 points we qe; a line which is
¥a = po ¥l 0 any = p g

gither a side or a diagonal.

16!

nuriber of lines =15, = — 0 " 0
21 14 \
e

= number of sides= 16 %
number of diagonals = 120-16 =104 . OQ &Q
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Qle

Since 5 out of 12 points are collinear, so the number of triangles will be 3¢, less from 120y

-12C3-5C3
12 _ gl
T TETET

_12x11x10 5x4
Aw?2 2

= 220-10

=210

Q17

Total men=0
Tatal wamen = 4

Total persons in commitiee = 5

[whsra at least are women has to be saslal::tadj
This can be done in

o EC Y 0 F Y O P e Y 000 By
A nl o AT
[ c,_r—!in_rj!] {c,_l, Cl-n]

axel) [ 4 @ 4 _ 6l
= S S leixe
[44 x21]+[2lﬂx3I3J+[3! STIRET 41.]+[ x6)

4=Bxh 4wl B=5x4 dxBub
o - I A e P v Al e R
=[EID:]+EIEDJ+EI'D+E|

O U
=240 W5 b c’)\\
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Q18

52 families have at most 2 children, while 35 families have 2 children.
The selection of 20 families of which at least 18 families must have at most
2 children can be made as under

i) 18 families out of 52 and 2 families out of 35
i) 18 families out of 52 and 1 family out of 35

1ii) 20 families out of 52

Therefore the number of ways are = %C = ¥C, + C, x *C, + *C,, x ¥ C,

Q19

i} Since, the team does not indude any girl therefore, only boys are to be selected.

5 boys out of 7 boys can be selected in ?Cs wWays.

sty T 67

=21
52 2

i) Since, at |sast one boy and one gif are to be there in every team. The team consist of

&) 1boy and 4 girls i.e, oy xic,

b) 2 boys and 3 girls i.e. 'Cox'cy
c) 3 boys and 2 girls i.e, TCy %%,
d} 4 boys and 1 girls i.e, "y x*Cy

= The required number of ways
= TCI = ‘Cq_ =+ ?Cz . 4‘:'3 + TC3 £ 4‘:'2 + ?C4 S 4[‘.-1

=7 +HB%+ 210 +140

= 441
i) Singe, the team has to consist of at least 3 girls, the team can con=st of
a) 3 girls and 2 boys = ', x ¢ ways
by 4 girls and 1 boy =*Cy » 'Cy, ways

The required numbar of ways
=0 n o 490, 2 T
=B4+7
=01

Wondershare
PDFelement
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Q20
The number of ways selecting of 3 people out of 5
LT L e
A Z

1 man can be selected from 2 men in 2C; ways and 2 women can be selected from 3
womer in “C, ways.

The required number af committees
= iCt x ECQ

2 3
e
11 201

=6

Q21

A decagon has 10 sides
By joining any two angular pants

we gat a line which is either 5 side or a diagonal

mc 10 10 =9 N

: ber of lines = Ee— = =45
number of lines B S

© number of sides = 10

- number of dizgonals = 45 - 10 = 35

Also,by ioining 3 angular points a triangle in formed
= Wc3

- 1o I 10 =9 =B _ 720 w190
317 In2 &

- 120 60 ’\O
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Q22

Dut of the 52 cards 4 are kings and 48 are Non-kings,
Five cards with at least one king
= {one king and 4 non-kings) or (two kings and 3 non kings) or

:3 kings and 2 non Icings} nr{ﬂ- kings and 1 non kingﬁ]
= (i = *e,) + [ fop x Pey) + [fes x *Pcy) + [ foy x %y

482 4T w46 =48 423 48x47 245
= + = +
4w 2 Ixl

= 4 4 +1x48

4847
®
2

= 778320+ 103776 + 4512 + 48
= BEGGEE

Fequired Number of ways = 886656

Q23

Total persons =4 Selection to be made = 6 person.

If A is chosen then & must be chosen,
= A and B are chosen together

Selection can be made in

Alzo the number of selections in which A and & are not chosen ae
- 7!
Cp ® o = T W EYS

BT ¢

Total number of ways in which selection is made = 15+7
= 22 ways
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Q24

There are 5 boys and 4 girls.
The team consists of 3 boys and 3 girls,

Mumber of ways to from the leom

= SC;}X 4':3

&l H

B e a—

3zE 3l

_ 5;4 ootk
=40

Mumber of ways = 40

Q25

There are 6 red balls, § white balls and & blue balfs.
Mumber of ways to select 9 balls consisting of 3 balls of each colour.
= {3 red out of 6 red) and

{3 white out of 5 white) and
{2 blue out of 5 blue balls)

= 6(:'3)(5':3)( 5C3

f=5=x4 Exd4 Ex4g
- ¥ ®
Ix2=l 2 2

= 2000

Fequired Number of ways = 2000


http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/

Remove Watermark Wondershare

H  PDFelement

Q26

L aTBE Zards @ grg s and
=ad 40 ars Han acs.

wuTEe 3 ways wEeact 5 cirds o thesacly one acs,
= lone ace oLt of £ sce) and
[a rra-are it af A0 Hor -]

L Ay -n._-.

__,f“-?l-ﬂxll-'.’:*%xﬁ
sl

—=JITEE=0

Rogurod Hembor of wires = TPR35%

Q27

Thorn ofn mit> 5 havdors ore -2 hotaman arn awalable 10 =cicet from.

M hor 3f ways-ia seloct o B of Lt that roluds a4 howlors

- 17 bat=man our of 1= batsrean] =ad
[-’l Fewlers st nt & I'nulnn]

e L "a

CunCy

10 wllwllwFwd
Euduzrinl

- 8RN0
Pequired rusr oer af waws - J960

Q28

Eazcotains 5 olax and O red balls,

Hurm her nf ways 10 =el=ct 2 hlack ball= w0 nf 3 Black and 3 red Falls oot ol @ rec Balls
- SC?H E‘:‘_]

524 Oxba%
= — o —

= <P

=200
Fedquited numbes af ways - 220

<
Q29

There =re lolal 9 coursas g availzble ard cut of thess 2 :,.J:J_ial:.lz sre compulzory, So, @

Murr bar 27 ways to eelect 2 compulsory and 3 opuomoutof 9 -2

-7 st 9
- fone ey ,\é Q

L FxEwh %
e Q @
- 35 O @
sequired nuriber cTwses = 35 0\\\ @
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Q30

i} The rrmmitter minsists nf prarthy 3 girls.

We have tn select 4 hinys from 9 hings.
This ran he dore in 9(’.‘4 ways Aanrd 3 girls not nf 4 qgirls can he selered in 4('.‘:, A 5
The requi-ed nimber ways =2 i ot F

QxBx?xﬁx
duIxZwl

514

ii] at east 3 girls are there,
There are 3 of more thani.e. 3 or 4 gitls

L&) 3girls and 4 boys e, Y0y < "0y ways

) 4 girls anc 3 boys e, Ty < 7Cy ways

The required nUuTiber Ct ways
= 4C'3 * 9C4 - 4C4 = 9C3
=E50<+ 84
= hiod

iiij Fo-atmost 3 gidls there 22 3,2,1 or 0 gils
e & 0grlsand 7 boys =% Gy = %05
by 1qirls and 6 boys = ¢ x *C;

b

c) 2 girls a1d & boys = *C. % 705
@) 2 qirls and 4 boys = *C,x oy,

Total number of required ways

O o 8,
= i e e e R S P e o b ’\\

- Dx9x8+4x9:<8x?+4x5x?xEx?xi_'_EDq_ 6
2 Fm? z GuIus &

= I +48=T+1B= 424+ 504 %

= 1632 '\‘\\O Q){b
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Q31

Here, part [ has 5 questions and part 11 has 7 questions,

Studant has to attempt 8 guestions selecting at least 3 from each section,

S0,

Mumber of ways to select at least 3 from each section and a total of 8 gquestions.
=2 fram part 1 and 5 from part I1) or

{4 from part1and 4 from part 1I) or
{5 from part 1 and 3 from part I1)

- !5C3 x® ."C‘-}) + {SC',‘ * TC.‘S} -l-{!'Ca ® Tf:a)

_ 5:«:4}{'.-':-:5 L Sx?xﬁxl’r " 1}(?5&515
2wl ol Tl ETE

=210+175+35
=420
Fequired number of ways = 420

Q32

In a parallelgram , there are 2 sets of parallel lines. Each set of pardlel lines consists
of [m +Ej lines and, each parallelogram is formed by choosing two lines from the first set and two straight
lines from the second set.

Hence, the total number of parallelogram = ™3¢, « ™22,

- (e
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Q33
There are 18 points in a plane out of which 5 points are collinzar,

Then number of striaght lines joining these paints are

= "Cy- [P -1)
whera n =18
= Ron=285%1
z 2 [ P-E]
— ]B(:'z-:':‘z'l'l
18x17 GLCxd4
= - +1
z 2
— 144

num ber of triangle = 3¢,

i3 13x12x11
- -
= 10f 3=

=13x2xll

=13x22
=806
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Total vowels are 5
Total consonants are 17

Yowels formed from & vowels and 17 consonants by selecting 2 vowels and
3 consonants are,

=7C, x 170y wE!

| |
= E_KL){]_EI:I
203 34!

_5x4 17 x16x15 y

® 120
2 Ix2

=10=x17=x8=x5=120

=400:=x17 «120
= 65800 =120

= 516000
Q2

Total persons=10

Humtber of persons to be selected=5

Condition = p; must and p,, . must not be there
Eemaining number of persons required 1z 4 out of 10-3=7

A

Q3

(i) Total number of 4 letter words formed from the letters of the word
MMONDAY "is = 5-’.‘34 x41= 360

(it} Total number of words formed by using all letters of the word 60 ,’\\FJ

MONDAY "is=061=720

(iii) Q) (b
There are two vowels dand O. So, first place can be filled n 2 ways and @ &
the remaming > places can be filled in 3! ways. K Q
So, total number o fwords beginning with a vowel = 2x51= 240 6\{0 %_
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Q4

First separate the 3 and then arrange the remaining things

B (r—2) %3

Q5

INYOLUTE

Mumber of letters = 8

Wovels=1,0,U,E

Consonents = WM, L,T,

Mumber of ways to select 3 wovels = *C,

Mumber of ways to select 2 consonents = *C,

Number of ways to arrange these five letters
= YcaxfC, xE

dubbxdx3dx2xl

2880

Fequired number of ways = 2880

Q6

There are x things

Twio specific things are to occur together, so remaining things are [r - 2].
Now, number of ways to arrange [r- 2) things out of [n-2)= ':”'2:'P[r_2:|
Two things can be arranged is {r - 1) ways.

and these two can be placed in 2 ways,

Therefaore,

Reguired number of ways = 2[."— 1} [n_sz[r—2:|
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Q7

The given word isPR O PO R TION,
Tatal letters = 10

Mumber of P = 2, Mumber of B = 2
Mumber of @ =3, Numberof T=1
Mumber of I = 1, Mumberof W =1

[i] Case I There are 6 different letters is which all the four are distirct to selected.

Murnber of ways to select therefour = 52,
=15

Case II: Two same and two distirct |etters are selected there are three pairs which
more than, letters.
Murmber of ways to select therefour

=¥

=3=x10

=30

Casze III: Two alike of one kind and two alike of other kind,
There are 3 pairs of letters is the more than one |letters. Any 2 of these 3 |etters,
Murmber of ways to select these letters

Case IY: Three alike and one dofferent.
Mumber of ways to select these letters
=1x7C
=5
Therefore,
Mumber of ways to select four letters
=15 +20+3+5
=53
Fequired number of ways to select =53
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[ii]FDr case It

Mumber of arrangements of four letters all distirct = C, x4l

=15=x24
= 260
For case II:
Mumber of arrangements of four letters two same kind and two of different kind
|
= 3C1 xSszﬁ
=3x10=x12
=360

For case III
Mumber of arrangements of four letters two alike of one kind and two of other kind
41

= 3C2 xﬁ

=3x6

=18
Case I
Mumber of arrangements of four letters 3 alike and 1 other kind
H

=1 SC'lx
311!

=20
Therefare,
Total number of arrangements of four letters selected = 360+ 360+ 18 + 20
Reguired number of arrangement = 758
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Q8

MORADABAD

Mumber of M= 1, Numberof 0=1
Mumber of B = 1, Mumber of & = 3
Mumber of D = 2, Number of B = 1

[i] Four distirct letters
There are 6 letters

Murmber of arrangement of 4 |atters
selected from these 6 = 5Cy x 4

15 =24

260

(i) Two alike and two different letters

There are 2 pairs with more than one
So, one pair from these and 2 from letters from rest & letters,
Mumber of ways to arrange therefour

4

- 3 i
= 2C1>-c: C‘Exz!

2wll=12
240

[iii] Two alike and two alike of other kinds,

Murmber of ways to arrange therefour

4!
= 2C2 w Cn Si5]
=B
[iu] There alike and one different number of ways to arrange therefour
5
=1x"0y
=Eux i
31!
= 20
Therefore,

Feguired number of ways =240+ 360+ 6 +20
Fequired number ways = 626
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In one 1ound Lable the business man can aconmodals e guesis m 2C..
wiys, I Che seomnd round Eble e cm aocoiomedale ke pussts n ECE
weva. Kooping onc gucst a3 fized in the frst roued table, the othor 14 gucats
can b amange 10 14T v Kesping one guest s Pacd e e seoondd oo
table, the other 5 guests can be wranges in 51 wavs.

There fora the tofal momber of ways in which the guests cor b2 amange iz
=10, » °C, w141 5! ways

Q10
Tae word EXAMINATION has letters E X A MIN, 7,0 whers 41N repeat twice.
The total number of letter=11
Tho aumber of ways of sclectng A lottzrs,

. I ,
=1'C‘4 11} 11x10x9=8

T xTws
= 330,

Tar nurnher nf arranging 4 lethers

. . ]
g| all different fc,xa=%, = %
=87 xbxh
= BB x30
- 1620
by 2 digzsinct and 2 alice
R T L LR L PV
“ 2 2
=378

c] & elike of one kind and 2 alike 07 othar kind

= 3xB - 13 0 ’\Q
O~ &

& 3 alike and 1 diztinct letter &% Q
30y %70, = 3;;:05 = 375 ®'® %_

Total nemoaer of wayws i which 4 letter words are formed = 1080+ 378 + 18 +6Q
= 2454 weys
*

N
N
N

£
Co
277

&‘\Q
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Q11

Neaf persons =16

Condifion anspecific persons=4dand 2=156

Eemaning people=16-6=10

o lets fill B people on both sides first from these 10

First side, we can select 4 out of 10,

o7 g

Mow we can arrange these 8 people on both sides in Blx8| ways

ﬁnSWEFmC4xﬁCﬁ ®al=El
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